Day 5 Mathematics Activity 1

1. Calculate these answers as quickly as you can:

a.(4x5)+20=_____
b.(3x8)-20=_
c.(40X9)x1=__

d.(60x2)—40=

e. The number values of the 7 in: 1 278

f. The difference between 950 and 2 000.

g. The total of 3 090 and 1 200.

h. The product of 96 and 2.

i. 77 +5=
j.100 + 9 =

N

a. 801 8 100 180

b.5900 5 090 5 990
c.1450 1 390 2 100
d.6300 6 030 7 300

8 001
5 009
1 970
7 003

2704

. Arrange the numbers in DESCENDING ORDER (greatest to smallest)

8 010
5 099
2 010
6 730

3. Arrange the numbers in ASCENDING ORDER (smallest to greatest)

a.3 900 3 030
b.1 500 1 050
c.1 010 1 100

Q

.2 560 2 650

3 090
1 550
1 001
2 506

3910
1055
1101
2 605



